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tables aftached.

1' The following are the financial statements of ABC plc for financial year ended 31.t December
20a7:

Balance sheet as at 3l.i2.Z0Az

Ordinary share capltal 12780A0

Prepaid .expenses

The lncome Statement for the year ended J1.1Z.ZAAT

Sales

Cost oGales'.

Gross profit

Operattng expenses

Profit before interest and taxes

Rs.

345000

t soooo

1 95000

90000

105000
illlEreul un roflg-Ierm loan

Profit before tax

Taxes ----------4p

Profit after tax

24000

81 000

27AOA

54000



Current ratio

Debt-EquitY ratio

Stock turnover

Net profit margin

Return on EquitY

Return on total assets

Total assets turnover

Non-current asset turnover

lnterest coverage

lndustry Averages

Required:

(a)Anatyzethecompany,srelativefinancialpositionintheindustry

(b) Point out the deficiencies and suggest improvements
(20 Marks)

2. (a) Determine the present value of the cash inflows of Rs.5000 at the end:of each year for nexi

5 years assuming a discount rate of 15 percent'

1

(b)Assumeal2percentdiscountrate.ComputethepresentvalueofRs.20,000;Rs'15,000;

and Rs.12,000 reJeived at the end of one through three years'

(c)ABankpaysl4percentandcompoundsinterestannually.lfRs'25,000isdepositedtoday'

how much shall it grow ai the end of 5 years?

(d) A firm deposits Rs.15000 at the end of each year for five years at 16 percent interest rate'

" How much would this annuity accumulate at the end of the fifth Year?

(e) A bank offers a deposit scheme which would double an amount of money in 9 year' what is

therateofinterestthatthebankoffersforthescheme?
{20 Marks)

2



f:

Required:

Calculate the following:

(i) Variable and fixed costs

(ii) Contribution ratio (C/S ratio)

(iii) Break Even Point

(iv) Sales to make a profit of Rs.240000

(v) Margin of safety if the profit of Rs.240000 is earned

(10 Marks)

{ll) XYZ plc manufactures and sells four types of products under the names of Alta, Belta,

Celta, and Delta. The sales mix in values comprises 30W AQo/o, ZAok, and 10% of the

products respectively. The total budgeted sales are Rs"1200000 for the year 2007.

Operating costs are as follows. ,,

Variable costs: Percentage of sales

Period

I

il

Atta

Belta

Celta
'"Delta

Fixed Costs: Rs.223500

Total Cost (Rs.)

900,000

1200,000

60%

65o/o

75%
I

4Ao/o

Required:

(a) Calculate the Break Even Point for the products on an overall basis

(b) Suppose that it is proposed to change the sales mix as 35o/o,35o/o,25o/o, ond 5% for the

above products respectively, and the total sales fortthe year remaining Rs.1200000.

assuming that the proposal is implemented, calculate the firm's PA/ ratio, Break Even

Point, Profit. Comment on your results.

(10 Marks)

(Total 20 Marks)

3

irt' 4,
Profit (Rs.) ':..,'

"*-
100,000

200,000



4. A firm is considering the fottowing project:

cash Flows (Rs')

+184210+163050+144?94
:6

1

E

3

Required: :to

(i)CalculatetheNPVfortheprojectifthecostofcapitalisl0%.-ij -7;

(ii) What is the Proiect's IRR? +
(iii)CantheprojectbeacceptedbasedonNPVandlRRyoucalculatedabove?-g_
(iv) Recalculate the project's NPV assuming a cost of capital of fi%for Gr and c2 'of 

12o/o *

for C3 and Cu and 13% for cs' Should the project be accepted? Can the IRR method-': E
used for accepting or rejecting the proiect under these conditions of changing cost ot 

=
g-

capital over ttme? WhY or whY not? '23
21

(20 Marks) ;-
t

S. (l) A machine will cost Rs.200000. lt is expected to provide profits be{ore depreciation of €

Rs'60000eachinyear1and2andRs's0000eachinyear3and4.Themachineistobe-

depreciatedonastraight-linebasis'Theincometaxrateis25%'"

Required: Calculate the Average Accounting Rate of Return
ffi;
l-

I

d08 Marks) f
l5

(ll)AProjectcostsRs'200000nowandisexpectedto.generateannualcash'n''o:.,.o'=
Rs.90000, Rs.70000, Rs.100000, Rs'40000, and Rs'25000 at the end of each year for the *

-t
next 5 years. The opportunity cost of capital is 15% ;
Required: calculate the Profitability lndex of the project' should it be accepted? t

(06 Marks) i
llt

(lll) A Proiect costs Rs.100000 now and is expected to generate an annual cash inflow of {
lt

Rs.30000,Rs'35000,Rs'50000,andRs.25000duringtheeachyearofnext4years.lnel!i
opportunity cost of capital is 1?%' 

*
Required: , !
calculate the Discounted Payback Period (DPP) of the project' lf the maximum DPP is set -

3

3 years, should it be accePted? . i
t06 Marks) !

(Total 20 Marks)

4



Preoent Value and Futuro Valus Tables

Table A-1 Future Value lnterest Factors tor One Oollar Compounded at k Percent for n peiods: FV\F k,h2 (1 + k),

2% 35k 404 504 7rh 8% gla 1004 12d1" 1t% 14./r 1604 lao/" 20jL 25. 30%
1.0?00 1.0300 -0400 I 0500 1,0700 1.0800 .0900 1.1000 1100 r.1200 1300 1.1400 1.150C 1 1600 1 2000 12404 1.2500 1,3000

2 1.0201 1.0404 I 0609 I 1n25 t.144S 1.1664 I 3Ar 2100 1 ?atl 1.2644 1.27 69 1.:936 1 -3225 t.3455 1.5376 1.s025 1.6900
3 1,0303 1.0612 1.0927 1 {A7A 19't0 1.2251 1-29E7 2950 t3lo 1.4049 4.4429 1.48t5 I 5109 t 5609 '1,9066 1.9631 2.1976
4 1.0106 1.OA71 {.1 255 .2155 .2423 1.3108 t-t606 .4lla 4641 ,516t 1.5735 1.5305 1.6830 i 7190 tt06 2.0736 2.3642 2!111 2.8561

1.0510 I 104r 1 5!1 1.2187 l-2783 1.3382 1 -loa6 1 4at3 .5386 .5105 t.686t 1.7A23 1.aa2t 1 9254 7 n11r' 2.1003 2.4883 2.93t5 3_0518 3.7129

1 0815 lrat 1.1941 .2563 .3401 1.4486 t 3no7 t,5869 1.4771 1.7716 t_870d 1.9738 ?.0820 2,1950 2,3131 2.43A4 3 8147 4.8268
I 1.0721 1.1147 1.2299 1.1!59 d071 ,t,6058 7-7734 1.azto 1-9487 2 0782 t t1n7 2.3526 2.5A23 2.6€00 2 8262 3 5t3' Bn17 4.7684 6.27 4S

1.0820 1.1111 1.2688 1,5938 .71A2 1-a509 t-9926 2.1d,1€ 2.3045 2.4760 2.65E4 2.8526 3.0590 3.27A! 2998 5,9605 6.1573
9 1.0937 t_1951 1 3048 1 L77t .6513 1.6835 .8385 1 99A0 719 1.3579 ?.5680 3.00{0 3.2519 3 5179 5.1598 7.4506 1 0.60{
10 1 1046 21 qO 1.4802 .6289 1-7908 997 2 2.15E9 1.3674 2.5937 2.839d 3.1058 3.3946 3.7 072 4,0456 4.4114 3_3{32 1 3.786

il Ll t57 1.2434 1.3842 i_9395 7103 I 8qA3 2.1 049 2.3 31 6 2.5804 2.8531 3.151 
'

3.l7AE 3.8359 4.2262 4.6524 5.1113 7.4301 10 657 1il?
12 1.1 268 1.2682 4.425A 1.€OlO 2.0't22 2.2522 2.5182 2.a127 3-1384 3.49a5 3,8960 4.3345 4.81 79 5.3503 5.9360 I 9161 1X 21t I4,552 23.298

1.1 38t 1.2938 8856 2.1Xzs 2.4098 2.7196 3 0658 7 AA23 3 i{31 4,3635 4,8980 5.4924 5 1528 6 8858 ao 6sl 1 8.190 30.268
14 1.1495 1.3195 I 5t16 .7317 .s799 2.260E 2.5786 a-9!72 3 3417 7975 4.3104 4,8871 5.5348 6.261 3 7.0767 7.9875 12.E34 20.3'19 39.374
16 1.1 51 0 t.8009 2.0789 2.3S66 2 7590 3 1777 3.6425 1,1772 4.7846 5.4736 6-2543 711?t B r37 s.?655 16,407 25.196 28.422 51.186

t6 1 t72B .3728 1.6047 1.8730 2 1429 2.5d04 2.5522 3.4255 3.9703 4.5950 5 3109 6 130d 1.0673 8.1372 9.3576 10.748 1S.488 31 243 35 877 66.542
t7 1.1 843 .4002 t 8528 1 9!79 2.2920 2,6928 3.1588 3.7000 L 3276 5 05d5 6,8680 7,9861 9.2755 10 741 12468 22 1&6 aa 7t1 44.409 86.504
,IE t.t961 L7n2A 2.0258 2.4066 2.8543 3.37S9 :.0t6d L 7171 6,s4J6 7.6900 9.02d3 I 0.675 4 2.375 4e3 68.039 55.51 t 1,12.455

'l
1.2n81 2.1068 t.6x7 0 3.0256 3.6185 3157 5.111? s.1 153 7.2633 E-6 i28 t0197 12.056 1 4.232 16.771 59.568 69.38S t46.rs2

21 1 270' 1,8061 2.1911 a.8697 4,6510 5.6044 6.1275 8.0623 9.5463 11 573 16.467 1 9.45! 38.338 73 a64 86 736 190 060

21 a 71tA 1,5t57 1.8603 2."788 2.7860 3.3SS6 4.1406 5.033E 6.1088 7.tonz 8 9492 10.804 13.02,1 15.668 1E.822 22.51 4 46.005 91 592 t08 420 247.065
22 1.2447 1.6{60 1.9161 2 369q 2.9253 3.6035 4.4304 5.d365 6 6586 g 1403 9.9336 12,100 14.7 14 17.861 21.645 26 186 55 tOA at1 a74 135.525 121.154
23 1.75 t"2 769 9716 2,4647 3.071 5 3.81 97 A.7 405 5 8716 / 7479 8.S54J 11.026 16.627 20_362 24 89J 30 376 66_247 140.831 169.407 417.539
21 1.2691 2.0328 2.S633 4.0489 s 0724 E 3L'2 7.911 9.8497 12.2X9 15.179 r8-78E 23 212 ?a 625 35,236 t9.497 174.631 211.758 542_801
25 1 7A2A 2,09J8 2.6658 3.3864 1 2919 5.4274 6.84E5 8.6231 I 0.835 13.586 1? OO0 32.319 2la.s47 26d.698 705-641

ri t.347E 1.4114 2-427 3 3-2434 A A21E 5,f 435 7 -4123 10.063 J3.r68 17 A9 ?2 N9? 29 q60 39.fl6 50.950 66.212 E5.950 137.376 63d 820 AO7 791
3t 1,4166 1_999s 2_al 3g s.5160 7.6E61 10.677 14 785 2n 41 28,tA2 38,575 52,800 72.069 98.100 133.176 1a0 314 590 668
36 1-4308 2 0399 ,4qal 4.103S s.7s18 a.t{73 11.42! 15 q6a 22.231 30.t13 42.818 59.{ 36 81.437 111 a3l 153 152 tnc 1GL
40 t dltq ?.:080 3.2620 4.8010 7.0400 10 2a5 14.t74 21.f25 31.409 45.2S9 65.001 93.051 ,72 7A7 267.864 378.721
50 I 64C6 2.6916 4.3839 7,1067 14.467 14.420 29.457 46-902 74.351 117.391 184.565 28t.00? 450.736 700.233

TableA-2 FutureValuelnterestFactorsforaOne-DollarAnnuityCompounod.atkPercenjforrPerlods:FVIFA*.n.{ft+Un-11/k

6.10S1 I 6.2273

.415 I 2t1.O31



Present Value and Future Value Tables

TableA'3 PresentValuelnterestFactorsforOneDollarOlscountedatr(Prrcentforrperiods:pyrFr,n=1/(1+k),

0.2366 0_2149

02076 I 01

o.t9?1 ! o 15

Tabl6 A-4 Present Value lnterest FactoE tor a One-Oollar Annuity Discounted at & percent for nl periods: pytFA = [1 . 1(1 + kfl / k

1.1816 i 7.2457

23.1J5 I 19.793 i 17 159


